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Ïåðåìåííûé øàã. Ð1=55; Ð2=330; 1/4 îá.1.
H12; h12; IT12/2.2.
37...43 HRC.3.
* ðàçìåð äëÿ ñïðàâîê.4.
Õèì. Ôîñ. ïðì. ïîñëå ñâàðêè ñ Ïàòðóáêîì ÔÌÃ-01.1-73-146.1-150.02.5.

6,3

2.82

30ÕÃÑÀ ÃÎÑÒ 4543-71

1:5

Ëèñòîâ 1Ëèñò 1

ÌàñøòàáÌàññàËèò.

Óòâ.
Í. êîíòð.

Ïðîâ.
Ò. êîíòð.

Ðàçðàá.

ÄàòàÏîäï.¹ äîêóì.ËèñòÈçì.

Ñï
ðà

â.
 ¹

 
Ïî

äï
. 
è 

äà
ò
à

Èí
â.
 ¹

 ä
óá

ë.
Âç

àì
. 
èí

â.
 ¹

Ïî
äï

. 
è 

äà
ò
à

Èí
â.
 ¹

 ï
îä

ë.

Øíåê

ÔÌÃ-01.1-73-146.1-150.03

11.3.19

Íèêîëàåâ À.Â.

Ìóñòàôèíà Ã.Ô.
Åðìîëàåâ Â.À.


	Лист1
	Чертежный вид1
	Чертежный вид2


